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¼1½  lHkh iz'u i= vfuok;Z gSaA 

¼2½  iz'u Ø- 06 ls 23 rd es vkarfjd fodYi fn;s x, gSaA 

¼3½ iz'u Ø-01 ls 5 rd 32 oLrqfu"B iz'u gSaA izR;sd oLrqfu"B iz'u ij 01 vad vkoafVr gSaA dqy vad 

 01X32 = 32 
¼4½  iz'u Ø- 06 ls 15 rd izR;sd iz'u ij 02 vad vkoafVr gSaA izR;sd iz'u dk mRrj yxHkx 30   

 'kCnksa es fyf[k;sA  

¼5½  iz'u Ø-16 ls 19 rd izR;sd iz'u ij 03 vad vkoafVr gSaA izR;sd iz'u dk mRrj yxHkx 75   

 'kCnksa es fyf[k;sA  

¼6½ iz'u Ø-20 ls 23 rd izR;sd iz'u ij 04 vad vkoafVr gSaA izR;sd iz'u dk mRrj yxHkx 120   

 'kCnksa es fyf[k;sA  

¼7½ vko';drkuqlkj LoPN ukekafdr js[kkfp= cukbZ;s & 

 

 Introductions:- 
(i) All question are compulsory. 
(ii) Internel options are given in question no. 06 to 23. 
(iii) Question no. 01 to 05 total 32 objective type questions. each objective type question carries                   
 01 Marks. Total Marks 01X32 = 32 
(iv) Question no. 06 to 15 are carries 02 marks each.write answer in 30 word approximately. 
(v) Question no. 16 to 19 are carries 03 marks each. write answer in 75 word approximately. 
(vi) Question no. 20 to 23  are carries 04 marks each write answer in 120 word approximately. 
(vii) Draw neat and labeled line diagram, wherever neccessary.  
 
1-  lgh fodYi pqu dj fyf[k;s &         (1x6= 6) 

¼1½  ,d lektoknh vFkZO;oLFkk dk ewy mn~ns'; gksrk gS & 

 ¼v½ vf/kdkf/kd mRiknu    ¼c½ vkfFkZd Lora=rk 

 ¼l½ ykHk dekuk     ¼n½ vf/kdre yksd dY;k.k 

¼2½  mi;ksfxrk dk lEcU/k gksrk gS & 

 ¼v½ ykHknk;drk ls     ¼c½ uSfrdrk ls 

 ¼l½ ekuo vko';drk dh iwrhZ ls   ¼n½ mRikndrk ls 
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¼3½  dqy mi;ksfxrk tc fLFkj gksrh gS rc lhekar mi;ksfxrk gksrh gS & 

 ¼v½ 'kwU;      ¼c½ /kukRed 

 ¼l½ _.kkRed      ¼n½ xq.kkRred 

¼4½  fuEufyf[kr es ls dksu lh oLrq iwjd oLrq gS & 

 ¼v½ pk; rFkk dkQh     ¼c½ dksd rFkk isIlh 

 ¼l½ pkoy rFkk xsgwWa     ¼n½ dkj rFkk isVªksy 

¼5½  ekWax dh dher yksp ls vfHkizk; gS & 

 ¼v½ dher es ifjorZu ds dkj.k ekWax es ifjorZu ¼c½ ekWax es ifjorZu  

 ¼l½ okLrfod vk; es ifjorZu    ¼n½ oLrq dh izd̀fr easa ifjorZu 

¼6½   ;fn ewY; es ifjoZru ds ckotwn ekWax dh ek=kk es dksbZ ifjoZru u gks rks bles gksrh gS& 

 ¼v½ bdkbZ dher yksp     ¼c½ vUur dher yksp  

 ¼l½ 'kwU; dher yksp     ¼n½ fLFkj dher yksp 

 Chose the correct option - 

(1)   The main objective of a socialist economy is  

 (a) Maximum Production     (b) Economic Freedom 

 (c) Earning Profit     (d) Maximum Public Welfare 

(2)  Utility is related to  

 (a) Profitability     (b) Morality 

 (c) Satisfication of human wants   (d) Production 

(3)  When total Utility is fixed then Marginal Utility is  

 (a) Zero      (b) Positive 

 (c) Negetive      (d) Qualitative 

(4)  Which of the following is  complimentry goods 

 (a) Tea & Coffee     (b) Coke & Pepsi 

 (c) Rice  & wheat     (d) Car & Petrol 

(5)  Prtice elasticity of demand means  

 (a) Change in demand due to change in price (b) Change in demand 

 (c) Change in real Income    (d) Change is Nature of Goods 

(6)  If there is no change in quantity demanded in responce to any change in price it is the situation 

 of 

 (a) Unitarty price Elasticity    (b) Infenite price Elasticity 

 (c) Zero  Elasticity     (d) Fixed price Elasticity 
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2- fjDr LFkkuksa dh iwrhZ dhft;s &        (1x6= 6) 

 ¼1½  vYidkyhu mRiknu Qyu dks -------------------------------- dk fu;e dgk tkrk gSA  

 ¼2½  iSekus ds izfrQy dk laca/k ------------------------ vof/k ls gSA  

 ¼3½  mRiknu cUn dj nsus ij ifjorZu'khy ykxrsa ------------------- gks tkrh gSA 

 ¼4½  vkSlr ykxr oØ dk vkdkj vaxzsth o.kZekyk ds  ----------------------- v{kj tSlk gksrk gSA 

 ¼5½  iwrhZ dk fu;e dher ,oa oLrq dh iwrhZ ds chp ------------------------ laca/k crkrk gSA  

 ¼6½  nw/k tSlh oLrq ds fy;s iwrhZ dh yksp ----------------------- gksrh gSA  

Fill In the Blanks  

 (i) Short run production function is termed as ........................... 

 (ii) Return to Scale are associate with ................................ Period. 

 (iii) When production is shutdown variable cost becomes ...................... 

 (iv) The shape of average cost curve is like the letter ...................of the English alphabet. 

 (v) Law of supply states the ........................ relationship between price and supply of  

  commodity. 

 (vi) For goods like milk, elasticity of supply is ............................ 

3-  lR;@vlR; fyf[k;s &         (1x6= 6) 

 ¼1½ ftl dher ij ekax rFkk iwrhZ cjkcj gksrs gSa mls larqyu dher dgrs gSaA  

 ¼2½ cktkj dher mPpkopu okyh izfØ;k gSA 

 ¼3½ tku esukMZ dhUl dks vk/kqfud vFkZ'kkL= ds tud ds :i es tkuk tkrk gSA 

 ¼4½ fo'o egkeUnh o"kZ lu~ 1910 gS A  

 ¼5½ th-,u-ih- ,d jk"Vªh; vo/kkj.kk gSA  

 ¼6½ v)Z fufeZr oLrq;sa e/;orhZ oLrq;sa dgykrh gSa  

Write True/False  

 (1) The price at which demand and supply becomes equal is called balance price. 

 (2) Market Price is a fluctuating Phenomenon. 

 (3)  Jhon Meynard Keynes is regarded as the founding father of mordern Economics. 

 (4)  The words great deppression year is 1910. 

 (5) G.N.P is a National concept. 

 (6)  Semi findished goods are termed as intermediate goods.   

4-  lgh tksMh cukbZ;s &           (1x7= 7) 

 ¼1½ NNP       ¼d½ ldy jk"Vªh; mRikn  
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 ¼2½ GNP       ¼[k½ 'kq) jk"Vªh; mRikn  

 ¼3½ oLrq fofue; dh dfBukbZ    ¼x½ RBI  

 ¼4½ eqnzk dk izkFkfed dk;Z     ¼?k½ SBI  

 ¼5½ dsUnzh; cSad      ¼M+½ nksgjs la;ksx dk vkHkko  

 ¼6½ O;kolkf;d cSad        ¼p½  fofu;e dk ek/;e 

 ¼7½ MPC      ¼N½ ldy ?kjsyw mRikn     

        ¼t½ lhekar miHkksx izd`fr  

4-  Match the columns 

 ¼1½ NNP       ¼i½ Gross National Product  

 ¼2½ GNP       ¼ii½ Net National Product  

 ¼3½ Difflculty of Barter System   ¼iii½ RBI  

 ¼4½ Primery function of Money    ¼iv½ SBI  

 ¼5½ Central Bank      ¼v½ Lack of Double Coincidence 

 ¼6½ Commercial Bank        ¼vi½  Medium of Exchange 

 ¼7½ MPC      ¼vii½ Gross Domestic Product    

        ¼viii+½ Marginal Propensity to consume  

5-  ,d okD; es mRrj fyf[k;s &         (1x7)=7  

 ¼1½ MPS dk iw.kZ :i fyf[k;sA 

 ¼2½ miHkksx Qyu D;k gSA  

 ¼3½ vkSlr miHkksx izo`fRr D;k gSA 

 ¼4½ vkSlr cpr izo`fRr D;k gSA 

 ¼5½ GST dk iw.kZ :i fyf[k;sA  

 ¼6½ O;ikj 'ks"k es dkSu lh ens 'kkfey gksrh gSA  

 ¼7½ vnk;xh larqyu es dkSu lh ensa 'kkfey gksrh gSaA 

5. Write answer in one sentence  

 (1) Write the full form of MPS. 

 (2) What is consumption function. 

 (3)  What is the average propensity to consume.                                                                                                 

 (4)  What is the average propensity to save.       

             (5) Write the full form of GST. 

 (6)  Whcih items are included in balance of trade. 

 (7)  Whcih items are included in balance of Payment. 
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6-  dqy mi;ksfxrk dk vFkZ fyf[k;saA          2  

 Write the meaning of total utility. 

   vFkok @ OR 

 lhekar mi;ksfxrk dk vFkZ fyf[k;sA         

 Write the meaning of marginal Utility. 

7-  vuf/keku oØ fdls dgrs gSa \         2 

 What is indeffernce Curve. 

   vFkok @ OR 

 vuf/keku ekufp= fdls dgrs gSa \ 

 What is indeffernce Map. 

8-  ctV js[kk fdls dgrs gSa \         2 

 What is the meaning of Budget Line 

   vFkok @ OR 

 ekax dk vFkZ fyf[k;sA  

 Write the meaning of Demand. 

9- mRiknu Qyu fdls dgrs gSa \         2 

 What is the meaning of Production Function. 

   vFkok @ OR 

 vYidky rFkk nh/kZdky fdls dgrs gSa \ 

 What is the meaning of Short run Period and Long run Period. 

10  fLFkj ykxr fdls dgrs gSa \          2 

 What is the fixed cost. 

   vFkok @ OR 

 ifjorZu'khy ykxr fdls dgrs gSa \ 

 What is Variable cost. 

11 ifjorZuh; vuqikrksa dk fu;e D;k gS \         2 

 What is the law of Variable production.  

                   vFkok @ OR 
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 iSekus ds izfrQy fdls dgrs gSa \ 

 What is the meaning of Returns to scale. 

12 miHkksx oLrq,Wa fdls dgrs gS \          2 

 What are Consumption goods. 

   vFkok @ OR 

 iwathxr oLrq,a fdls dgrs gSa \ 

 What is Capitey Goods. 

13.       jk"Vªh; vk; x.kuk dh fdUgh nks fof/k;ksa ds uke fyf[k,A     2  

 write the name of any two methods of counting National Income.  

   vFkok @ OR 

 a nksgjh x.kuk fdls dgrs gSa \ 

 What is the meaning of double counting 

14-  dsUnzh; cSad ds dksbZ nks dk;Z fyf[k,A         2 

 write any two Functions of Central Bank. 

   vFkok @ OR 

 O;olkf;d cSad ds dksbZ nks dk;Z fyf[k,A 

 write any two Fuctions of Commercial Bank. 

15- ljdkjh ctV ds dksbZ nks mn~ns'; fyf[k;sA       2  

 Write any two objectives of government Budget.  

   vFkok @ OR 

 vf/k'ks"k ,oa ?kkVk ctV D;k gS \ 

 What is surplus and desicit Budget.  

16- O;f"V vFkZ'kkL= dh dksbZ rhu fo'ks"krk,sa fyf[k,A      3 

 Write any three charectristies of micro Economics. 

   vFkok @ OR 

 fdlh vFkZO;oLFkk dh rhu dsUnzh; leL;kvksa dks fyf[k;sA  

 Write three central problemes of an Economy. 

17- iw.kZ izfrLi/kkZ ds dksbZ rhu y{k.k fyf[k;sA        3  

 Write any three Features of perfect competition.       

   vFkok @ OR 

 ykHk vf/kdrehdj.k dh rhu 'krsZ fyf[k;s A   

 Write three conditions of profit maximisation.  
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18- lexz ekax dk D;k vFkZ gSA blds nks ?kVd crkb,A      3 

 What is the meaning of Aggregate demand. Explain the two compoment of AD.  

   vFkok @ OR 

 U;wuekax fdls dgrs gSA bls Bhd djus ds nks mik; fyf[k;s As 

 What is the meaning of Desicient demand. Write any two measures to correct Desicient demand.  

19- jktLo O;; rFkk iawwthxr O;; esa Hksn dhft;sA ¼dksbZ rhu½        3 

 Distinguish between revenue expenditure and capital revenue. (Any Three) 

   vFkok @ OR 

 jktLo ?kkVk rFkk jktdks"kh; ?kkVs esa Hksn dhft;sA ¼dksbZ rhu½ 

 Distinguish between the revenue deficits and the Fiscal  deficits. (Any Three) 

20- iw.kZr;k ykspnkj ekax rFkk iw.kZr;k csykspnkj ekax dks js[kkfp= dh lgk;rk ls le>kb;sA  4

 Explain perfectly elastic of demand and perfectly inelastic demand with line diagram.  

   vFkok @ OR 

 ekax dk fu;e D;k gSA js[kkfp= dh lgk;rk ls le>kb;sA  

 What is the law of demand. Explain with line diagram. 

21- mPpre fu/kkZfjr dher rFkk fuEure fu/kkZfjr dher dks mnkgj.k lfgr le>kb;sA   4 

  Explain the price celling and price floor with example. 

   vFkok @ OR 

 cktkj larqyu dh O;k[;k js[kkfp= lfgr dhft;sA 

 Explain the market equilibrium with line diagram.  

22- ferO;;rk ds fojks/kkHkkl dh O;k[;k dhft;sA         4 

  Explain the paradox of thrift.   

   vFkok @ OR 

 xq.kd fdls dgrs gSA bldh fdz;k fof/k fyf[k;sA  

 What is Multiplier. Write its mechanism.  

23- fLFkj fofu;e nj iz.kkyh ds dksbZ pkj xq.k fyf[k;sA        4 

 Write any four merits of fixed exchange rate.   

    vFkok @ OR 

 frjrh fofue; nj iz.kkyh ds dksbZ pkj xq.k fyf[k;sA  

 Write any four merits of  flexible exchange rate.  
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